
? xhf/df

ljlQo ;dfgLs/0f 

cg'bfg 
;zt{ cg'bfg

1 %) k|ltzt cg'bfgdf pGgt lap ljt/0f -wfg,ds},uFx' nufot cGo _ 250 250

2 ks]6 If]qsfnfuL %) k|ltzt cg'bfgdf t/sf/Lsf] pGgt lap ljt/0f 50 50

3 kflnsf :t/Lo pGgt vfBfGg afnL v]tL k|ljlw tflnd -@ cf]6f_ 100 100

4 kflnsf :t/Lo pGgt t/sf/L v]tL k|ljlw tflnd -@ cf]6f_ 100 100

5 t/sf/L cfO{=cf/=8L= k|;f/0f -ldlgls8 ljt/0f_ 100 100

6

Jofj;flos kmnkm'n aFu}rf :yfkgfsfnfuL lj?jf vl/b tyf kmnkm'n ks]6 If]q 

:yfkgf -gf}s'08,% ef]n]{_ ;fy} kfpnf]lgof lj?jf vl/b 320 320

7 kflnsf :t/Lo kmnkm'n v]tL k|ljlw tflnd -@ cf]6f_ 100 100

8

 &% k|ltzt cg'bfgdf ldlgl6n/,sg{ ;]n/,sf]bf] r'6\g] d]l;g,y|];/ tyf cGo 

d]l;g/L ;fdfu|L ljt/0f 1000 1000

9 &% k|ltzt cg'bfgdf t/sf/L ks]6 If]qdf xfO{6]s k|ljlwsf] Knfli6s 3/ lgdf{0f 1000 1000

10

 &% k|ltzt cg'bfgdf s[lif ;fdfu|Lx? :k|]o/,n'h kfO{k, l;s]r/,l:k|ª\sn/ nufot 

cGo ;fdfu|L ljt/0f 200 200

11

k|:tfjgfdf cfwfl/t o'jf nlIft tyf ;fgf Joj;flo pBdlzntf sfo{qmd ;+rfng 

-!@ cf]6f_ 500 500

12 cn}Flr,n;'g tyf cGo d;nfafnL ks]6 lj:tf/ sfo{qmd 400 400

13 ;fgf l;+rfO{ lgdf{0f tyf dd{t ;+ef/ sfo{qmd 800 540 1340

14 &% k|ltzt cg'bfgdf Knfli6s 6g]n ljt/0f -@)) yfg_ 750 750

gf}s'08 ufp Fkflnsf

ufp F sfo{kflnsfsf] sfof{no 
सरमथली , /;'jf

ah]6 

s[lif ljsf; zfvfn] ljlQo ;dflGos/0f tkm{ ;+rfng ug{] cf=j=)&%  ̷&^ sf] l:js[t sfo{qmd

qm=;+= sfo{qmd ljj/0f hDdf ?= s}lkmot



15

cfn' -of;f{_,slkm -;/dynL_ tyf v'dn $ wfg -kfl6vs{_sf] ks]6 If]q lj:tf/ 

sfo{qmd 500 500

16 t/sf/L ;+sng s]Gb| tyf lr:ofg s]Gb| lgdf{0f tyf dd{t 1400 1400

17 cfktsflng afnL porf/ sfo{qmd 100 100

18 &% k|ltzt cg'bfgdf df}/Luf]nf ;lxt tyf uf]nf afx]s 3f/ ljt/0f -%) yfg_ 600 600

19 kflnsf :tl/o df}/L kfng ;DjlGw tflnd 50 50

20 kflnsf:tl/o cu'jf s[ifs e|d0f sfo{qmd 300 300

23 s[lif ;'rgf k|jfx tyf gofF k|ljlw k|rf/ k|;f/ sfo{qmd 50 50

24 sfo{qmd ;fdfu|L 9'jfgL vr{ 500 500

25 b}=e|=e= ,sfo{qmd cg'udg tyf ;+rf/ vr{ 180 180

26 :yfgLo txdf /xg] s[lif k|fljlwssf] tnj 0 608 608

27 df6f] kl/If0f tyf s[lif r'g ljt/0f 0 45 45

28 s[ifs kf7zfnf-kz'÷s[lif ;DaGwL 0 100 100

cf=j= )&%.&^ sf] s'n hDdf ah]6  9350 1293 10643


